1. wmﬁmw@'m’lﬁﬁm%mvﬁfﬁwﬁﬁ
et o T 1 8 o8 9 1 7 T €7
M Wi{ HSSC CET Gro
g 3"5“'?33‘ Answer Key 21
w e 2023 2nd Shift
(5) ST <

2. nwméﬁmﬁﬁﬁw@aﬁj#mﬁm
ol il i
M) TR b |
(2) SR
(3) TR ' :

Wy i

Oct

e
e
e

5 A

ip D

i)

. Which of the following is not part o t
i Panchayati Raj system in India ?
@

Zila Parishad
Gram Parishad
e Gram Sabha
‘ (4) = Gram Panchayat
| ' Not attempted

L)
| Where is the National Gallery of Modem*

)
Lo

. located? '
' New Delhi
Kolkata
' Mumbai
Nagpur
Not attempted

Whom did India beat in the Finals of

One Day Cricket Tournament held in ¢ ¥
© 20237?
(1) Sri Lanka

(2) Nepal

(3) Pakistan
. (4) Bangladesh /f

(5)  Not attempted

When nat
forms thrlclmflal}? T0ducts ar cha
gh ways of p Nged int,
known as : ANUfact i Other
8 it ig

(1) Tertiary sector
(2) Industrial secty,
(3 Primary sector
(4) Secondary secty;
(5) Not attempted
In V\.fhiCh district of yyq,
Khajuraho Group of MOnum}é?\t:rladesh’ 4
(1) Chhatarpur Ocated
(2) Jabalpur
(3) Gwalior
Indore
Not attempted

(5)

Asiat
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6.

g T+ e o o Iviie e & o S

6. In which year did the United Nations adopt
Wfﬁ?ﬂﬁé@ F T ? the UN Guidelines for Consumer Protection ?
(1) 1985 (1) 1985
2) 1990 (2) 1990
(3) 1986 (3) 1986
(4) 1987 (4) 1987
() ST < AR (5) Not attempted
- . & _)
S ST o 7. Where is Salar Jung Museum located ?
1 = (1) Mysore
() T (2) Goa
(3) T (3) Bhopal
@ TR (4) Hyderabad
(5) SWTE S I (5) Not attempted .
A TEPR| o R & i Heri W foen 8. ' Consider the following statements about
T FIF T FI T TG § 2 Democratic Governments. Which statement
(1) S A ded & w9 H (= mot corrcC iy
; TR (1) Democracy is also known as
tative democra
@) ﬁmmﬁﬁﬁﬁwmﬁwaﬁmm A i g
(2) Democracy guarantees universal adult
&l i L franchise
(3)  MeHea | S i ST e =t fraffed F (3) In democracy people have power to elect
1 SIFER B R . their leaders
@) TR i ST %wﬁ ‘ﬁ?ﬂ:nﬁﬁﬂ%l (4) - Democracy is also known as Oligarchy
(5\ TR el a:na-@ : (5) Not attempted
9. Y= & ‘Hich Ug' o FEl AT ? 9. = Why Earth is called the ‘blue planet’ ?
(1) s 3HH Sirem 21 (1)  Because it has life.
@ Hifs Yot &1 91 whave J otfier T A (2) Because more than 91% of the Earth is
Wﬁ'{a ) covered with water.
(8) Because it is blue in colour.
3) =Hiifes gHH =ﬂar
L il ‘ (4) Because more than 71% of the Earth is
~ covered with water.
o =Bifed € i (5) Not attempted
(5) I im ‘ﬂra% | _
10. In which year did Gandhiji arrive in India f
10, Tnﬁ‘rﬁﬁmmﬁmﬁfmaﬁﬁmm South Africa ? e
g7 (1) 1917
/(,): 1917 (2) 1921
3 1907
ﬁ?ﬁﬂ ’ﬂﬁ = 9Ed (5) Not attempted
NTV/ F2 T 1Y % fe7u 2Tl | SPACE FOR ROUGH WORK
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Correctly n

List -1

countries

(1)

Alrica

Willow

(3) Palm tree
| Pin 1
! Not atten
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b EZTW T SIS S 3ot e 3 ferrge fordt &
Afeensll g s s ¥, fra e

we H e B &
(1)  fore
(2) e
@) el
o T (e
(5) ST TE T T
16. & WISl S ot fereer W A G A wew &9 E 4
G E RGN S o ) |
(1) SSHH
(2) 3T A AR
YA
@) &=

(5) SR AE oAl =ed

17. T 3 TR 6 WA A S ©

(1) 98.4°C

4 98¢
(3) [1353@
@isTse
(5) SR el &l =ed

18. ﬁmﬁaﬁaﬂﬁﬁﬁqm%maﬁﬁﬁmm

®? hifon .
(1) i

/{,2) e T IR
3) ferdredfer

4) T T HITRT
(5) TR & AR

Jo. it i e T A B 2 |

15.

16.

17.

18.

19.

Khabar Lahriya, a newspaper Tun by "’,ght
ot dIBtHCtr

Dalit Women in Chitrako , i
Uttar Pradesh, comes out in which loca

language ?

(1) Pishoni
(2) Awadhi
(3) Bundeli
(4) Tulu

(5) Not attempted

The substances which turn red litmus into

blue are in nature.
(1) Neutral

(2) Acidic or Basic

(3) Acidic

(4) Basic

(5) Not attempted

The normal temperature of human body is :

(1) 98.4°C
(2) 98°C
[@)lliss°e

Sl 37rC

(5) Not attempted

|

Which of the following helps in clotting of
blood ?

(1) Platelets

(2) White Blood Cells

(3) Haemoglobin

(4) Red Blood Corpuscles
(5) Not attempted

Which is the most common carrier of
communicable diseases ?

(1) :;I;"W (1) Dragonfly

(2) e (2) ' Ant

@ = (3) Housefly

(4) FaHFaEl (4)  Fruitfly

(5) o AE & AT (5) Not attempted i
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20.

21.

22.

23.

3 St S um s # @ e S § 9%
Fed B
(1)  Heherg=
) wnfm
(3) geiw
4 foqw
(5) o e 3 =ed
Fr=ferga § | 3741g 1 =94 B
(1)
2) wifeaA
(4) s
(5) SO AE a1 =R
HTE - 17 fou TTa 02 i ehter - 113 fge e #iei &
Ty gaferd SIS |
I 1
(A) TR I) el Hte
(B) (1) TSt e
(C) A (I11) -
(D) . fo=r V) ehieHaf qren
aﬁrﬁsﬁﬁqgﬁq
(1) (A)-(D), (B)-(0), (O-1V), (D)-(1).__.
2) (A)-1D), (B)-(1I), (C)- (I) (D)-(IV)
(3) (A)-D, (B)-0, ( C)-(11), (D)-(1V)
@ (A)-mn, (B3)-01), ©-) (D)-(
(5) =X 78l oA =ed
=Te - 1 7 feu T #al Sl e - 11 ﬁﬁqﬂqﬂa’r
% T7e GAfed FIL :
I II
(A) femmg
(B) z I1) ©hdh
(C) 1) Sy
(D) Z =l V) SR
g feu mﬁﬂﬁﬁaﬂmmwﬁﬁq:
(B)-(11), (C)-(1V), (D)-()

(1) (A)-(110),
2) (A)-0), (B)

(3)

-(111), (©)-(11), (D)-(1V)

(A)- -(11), (B)- (I)j (C (III) () ”

”‘B, ,'f' f/)‘li)a
i

20.

21.

22.

23.

Species found only iy
known as : % b Artj,
(1) Endangered

(2) Endemic

(3) Rare

(4) Extinct

(5) Notattempted

Select the non-metal frop, th
(1) Iron

(2) Sodium
43) Sulphur

(4) Copper

(5) Not attempted

Match the items given in Coly
those in Column - IIL

I
(A) Chloroplast (1) Leg
Plan
() Rhizobium () Pa
(C) Cuscuta (I11) Le;”f
(D) Pitcher plant  (IV) Ins
plan:

Choose the correct options belos

(1)  (A)-@), (B)-(1), (C)-(IV), (D)
@)  (A)-(), (B)-(I1D), (C)-(1), (DHI
(3 (A)-m), (B)-0), (C)-1), BHF
(4) (A)-(mI), (B)-(1), (C)-(1), (-
(5) Not attempted

Match the items in Column - I

Column - II :
il

I
(A) Typhoid iy, Ve
(B) Hepatitis A (an) Fus
(C) Malaria (1) Ba“
(D) Wheat rust (IV) Pr i

Choose the correct amsvVer
below :

(A)-(I), (B)-(11), (C)-0V) (Dl

(1)

@) (A)-), (B)-), (©)-m: O
@) (a)-a, ®-, ©-0, "
@) (A, B)-), ©-V> "

(5) Not attempti//

(5)
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If a body covers 100 km in 5 hours its speed

: x 24.
24. ﬂﬁ@ﬁ@momﬁ@saﬁﬁmm%ﬁ ki
R —_‘a’ﬁl _ (1) 20 km/hour
A7) 20T /5 \ (2) 500 km/hour
(2) 500 feHL. /= (3) 20 meter/hour
(3) 20 die/s (4) 20 centimeter/hour
(4) 20 Y/ w (5) Notattempted
(5) SR TE o = |
25. . Which is the best conductor of heat from the
25. ﬁtﬂi‘aﬁaﬁﬁ@ﬁq—mmmmwm%? following ?
(1) < (1) Silver
(2) Aluminium
2)  ITHIER
(3) FS EEm
b el (4) Kerosené
e attempted
(5) SR T & 9Ed
: 26. Night blindness is caused due to the
26. il 1 T % B A © e ot o
(1) feefmc (1)  Vitamin C
(2) feafD (2) Vitamin D
(3) fefEma (3) Vitamin A
4 fafTB (4) Vitamin B
(5) SR A IR (5) Not attempted
o7. fao=zaayg ARt = Hede o HIEH J Gl | 27. Cockroach breathe through network of air
3 o2 . @Al i | : tubes called _
(1) w (1) Diaphr_agm
@) & (2) Stomata
i i} (3) Gill
}ﬂ (4) Trachea
.3 , ' (5) Not attempted
(5) SWRAE T <& :
28_/151'/‘?&#@3 & & 3 oo @ Weifkm 39 28. gi,:ei;?e o;' the following is mot a deficiency
: 1) e ‘ ' (1) Goitre
(2) A (2) Scurvy
(3) eiicell (3) Anaemia
4 HA (4) Malaria
(5) ST S =T (5) Not attempted
Page 7
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29. Ftafen & & 9 o e o il e &2 29. The planet which appears reddish in cq,

(1) BNED 185
] W (1) Venus
(2) Mars
S
S W (3) Earth
(4) ™ (4) Mercury
(5) SWE T ERY

(5) Not attempted

30. e - 1 fy o w9 whvem - 10, few o e

30. Match the items given in Column - T wjt,
& 9 A those in Column - II :
I- (9= 3i) II - ( feram ) I - (Digestive Organ) II - (Process)
= (A) Small Intestine (I) Chewing of fogq
) el 3113\ IS S (B) Large Intestine (II) Churning offogq
B s ’ ¥iISH 1 feretre (C) Stomach (II) Absorption of
C) - N (II]) SIS T STegEY] food
@) T (IV) ¥t 1 S (D) Mouth (IV)  Formation of
oF e S - faeces
; Choose the correct options below :
(1) (A)-m), (B)-@v), (O)-(1), (D)-(1y
(7(2)’ (A)-(10), (B)-(IV), (C)-(I), (D)-() (1) (A)-m), (B)-IV), (C)-(), (D)-(II)
)  (A)-@V), (B)-(1), (O)-(1), (D)-(I) (2)  (A)-@m, (B)-v), (C)-(1), (D)-(1)
(4)  (A)-V), (B)-(1), (C)-(m1), (D)-(11) () (A)-v), (B)-(I1D), (C)-(1), (D)-(11)
(5) SWTE o dRd _ (%), A)-v), (B)-(1), (C)-(I1), (D)-(11)

5) ‘Not attempted
31. YA 3R 39 a1 < Freew (1) s () R e

To T el =1 T A g AT 3 WM 9 9| 31, Two statements are given, followed by two
3 fimt 3 0 7 v A &, ol ¢ R w /R conclusions (I) and (II).

Assuming the

i z | statements to be true even if they seem tol¢
Tl T 1T el o STTER R TohETd &9 @ et at variance from the commonly known facts
EIARETNE| gl decide which of the conclusions logicallf

: o 5%[ T follow(s) from the given statements.
- St ati Staf:ements :  Some dogs are fishes.
' 0 FoFAEAE 5 et Slome fishes are birds. )
frreed : irds
(M) FoUE PN E :I)n e s
_ Some bird dog>
(1) fo (1) AR () T P €1 (1)  Both ~ Lo
e n' — ) 0 conclusmns (T) and (I1) follow
Vm/ 4 e (1) & - ( ,,_)u‘ﬁﬁ .?“"3‘, () Neither conclusion (T) nor (I1) follows
(3) aac e (1) e €| () Only conclusion (1) follows
(4) aa T (1) Fehaa &) (4)  Only conclusion (1) follows
(5) T A Hed (5) Not attempteq
T % i & fo1e 2211/ SPACE FOR ROUGH WORK page!
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32. 9 fasheq 1 997 H S AR 75 | S YR Heited

2 O S0 1< RS T § g 1
W:Wﬁm::“{a;*?ﬁ_
(1) W
(2) CREES
@
4 =T
(5) S TR o =R
33. foud o1 =99 i)
(1) Ten
() @@
() IR
EaE]
(5) ST T =Aw

34. < ISR PR 3 TR A svorer s § fean

T Seasl ¥ 39 HANH 1 99w e SR
3TER} I G ) W TH S0 g o |
. NS S AT G
e 2k 3 GbAE 58 5i6
(1) 3,5,4,2,6,1
2,6,3,1,4,5
@) 5,4,2,1,6,3
4 3,5,6,2,4,1
(5) SR T < ARd

35, fz UF Fifda FEOS F MUSSOORIE’ i

‘OTURQNTHG’ fer@1 vl 2, il SHt esmT |
DELHI’ &1 =71 feran s ?

32.

33.

34.

35.

Choose the option which is related to the thir‘d
term in the same way as the second term 18
related to the first.

Mosquito : Malaria : : Rat: __ 2

(1) Rabies
(2) Typhoid
(3) Plague
(4) Dengue

(5) Not attempted

Find the odd one out.
(1) Sparrow

(2) Parrot
(3) Pigeon
(4) Kiwi

(5) Not attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly form a meaningful word.

Lt N frids BGRA BRI g
a0 AagEEA s
1) 3,5,4,2,6,1
2 2,6,3,1,4,5
@) 52 ILGS
4 3,5,6,2,4,1
(5) Notattempted

If in a certain code language MUSSOORIE?’ is
written as ‘OTURQNTHG’, then how will
‘DELHI’ be written in that code ?

(1] FCNFK (3} FCNFK
(2) FCNGJ (2) FCNGJ
(/(}) FDMGK (3) FDMGK
(4) FDNGK (4) FDNGK
(5) JM 7 21 =ed (5) Not attempted
HANTY | F2 2% @i % feTe 22 | SPACE FOR ROUGH WORK e
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36. LN .
8. 7T R ¥ st I g el MUy A s E | | 86. Read the following information to answer )
A*BH g g ‘B, A®IyE R question below : i
ASBH a4 g ‘A By yeh &) A * B means ‘B is the brother of A”.

¢ : 1 fB7
A # BT ) A $ B means A is the wife of B’.
; B’Aaﬂlﬁ% I A#Bmeans‘BisthesonofA’_

* § 3§
:ngfg 3R A S G fP$Q* R_# S’ then, which of the follow'm%.
statements is true ?
(RO fian g (1)  Ris the father of Q
B S o (2) S is the nephew of Q
@) S, PHTE (3) Sis the son of P
‘)ﬁ”’ R, P& W ¥ | (4) R is the father-in-law of P
(5) STl < AR (5) Not attempted
M8 R il S 1 9 FT 37. Find the missing term __?  in the series.
195, 95,5, 2 s L e
o 1 5 25 125 bk 9 B Ll e
2y =2 (1)t
% il @ -2
e | 6 2
(5) ST T & =R . it

38. qﬁm%mvﬁaﬂﬁaﬂxaﬁ%aﬁma&w (5)  Not attempted
24 m TeTdl & 39 IS I8 9 1T gt © 3R 16 ,
m T 21 G T8 3T Y SR 24 m el B B s sWest, then fums

: : to her right and walks 24 m and then turnst
e 31a 319 TR foig & ferd 5T qen ferg fgm her left and walks 16 m. Again she turns

F¥7 hgr leijt an@ walks 24 m. How far and in which
) 40m, = ?;;eCh:g is ianrfz from her starting point ?
e ety = m’ 9O
Ja 40m,nﬁ§q (2) 40 m, West
(3) 32m,3W (3) 32 m, North .
(4) 48 m, Ife=H (4) 48 m, West
(5) WA <1 =T (5)  Not attempted

39. @EfEP, Q,R, S, T I U IHH IR YE Hh Th

4 ks .~ | 89. Sixfriends P, Q, R -
T me ¥ S SavEd Tl & o6 S A sP,Q,R, S, Tand U are standing
1 a row facing North but not necessarily in &%

pr R F AL T Q) T I WA same order. ‘P’is to the left of ‘T’ and to ¥
o % ami § i, U A SR R 1 Q) R e right of R”. Q’is on the right of T but to ¥
. 161"‘; of '8’ who is to the left of U’. Who ar
| " neighbours of ‘Q?
(1) THERS (1) Tands
(2) RARR (@) PandR
3y THRU 8) TandU
(4) PpemT 4 PandT
(5) AL & =R (8)  Not attempteq
HANTY | F2 7w 1l o feTe 2eyreT / SPACE FOR ROUGH WORK W
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40. Rt 7 ST FRdt HE &% AR AR 1 R
<t T 7 Shen i WER B Yeen WER € | fie

¥ Sfes &1 i F e ?
() SR
@ .15
_&) 23
(3) 21
(5) SWTE I W
41. (0.5x0.5+o.5+5)w%:
(2) 0.45
(3 0.15
0.25
(5) SR TE o =ed
42. SHEENS 2p, 5pAI7pH LCM. ®:
(1) 75p
/@1 70 p
4) 65p
(5) ST E < =red
43. TFEIM R 3%% ElL RS 2% T ST HIERO
FHT210%7
M 72,800
(2) 2,500

(3) %1,580

( a=n ed

44 ﬂﬁaambafﬂﬂm%,aﬁﬂﬁﬁaﬂﬂ—mw
g7
(1 a+0=0+a=a
(2) a-0=a#0-a

(3 at+b=b+t+a

—

a—b=h—a

(5) FAUAE & AwRd

40.

41.

42.

43.

Priyanka’s birthday falls on the third Friday
of a month. The fourth day of that month is
the first Monday of the month. What is the
date of Priyanka’s birthday ?

(1) 22nd
(2) 15th
(3) 23t
(4 21st

(5) Not attempted

(0.5x0.5+0.5+5) isequal to:

(0135
(2) 0.45
B 0,15
(4) 0.25

(5) Not attempted

“The L.C.M. of three numbers 2 p, 5pand 7 p

1S :

N(1) 75p
{270 p2
(3) 70p
4) 65p

(5) Not attempted

For which sum, the simple interest at the rate

3 ' 1
of 32% per annum will be ¥ 210 in 27 years ?

‘ 3
(1) %2,800
@ ¥2,500
3) 1,580
(4) 2,400

(5) Not attempted

If a and b are two distinct integers, then which
of the following is incorrect ?

(1) a+0=0+a=a
(2) a-0=a#0-a
(3) atb=bta
(4) a-b=b-a
(5) Not attempted

HANTV / F2
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45, : .
Eﬁ“ﬁ:ﬁWﬁwmﬁWMWﬁ
iy S‘Iﬂaﬁ{@mﬁ%nﬁﬁsﬁgﬁm

. T 1 gam) TR W H 6 i @
LR TE [
2. 2:3
R |
4 5:11
) SR I

46, wwmaﬂm@ﬁu‘w%%%ﬁ;wﬁl
e W e e § o ¥
(1) 13:8
(2 13:10
3)~10:13

/(4)/\8:13
(5) S < =Ry
47. 10mx10mx5mﬁW3ﬁWWﬁT@WW
Il T § T BT e
(1) 1042 m
/({) 5\/-3_m

®)  15/3m
@5

(5) ST TRl o =ed

48.

fope @t §, T 800 i TR 10% ik Tshaf AT
FI T, T 926.10 B ST Toich =S I SHE
e B € 2

45.

47.

48.

R

A certain number is (li"vi(lml Into twyg "
such that 5 times the first part adce |u'|".
times the socnnd. part umk“u.q 7 timeg ; ||
number. ’I‘]_w. ratio of the first papy i lll.::
second part 1s

() g

@52 Ee

(@) 2ial

4 5:11

(5)  Not attempted

Half of a certain number is equal to 5, i
the second number. The ratio of the f,,
number to the second number is :

(L) ST
(2)NT3 0

(3) 10:13

4 8:13

(5) Not attempted

The length of the longest rod that can be place
in a room of dimensions 10 mx 10 m x5 mis:

(1) 1042 m

2) 5/3m

@) 153 m

4) 15m

(5) Not attempted

In how many years will a sum of 800 at 10%
PEr annum compound interest, compounded
semi-annually become ¥ 926.10 ?

1 1
W 25 ¢ (1) 2§ years
oL a4 1
2 > ) 25 years
@ 1t
3 Years
1
(4) 15 years
(5) IX Tef &1 =Ed (5) Not attempted
e 3t @1l & feTe 2ermal | SPACE FOR ROUGH WORK W
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f ] g ] . I
49, 20 litres of a mixture containg milk and water

49. 20 ST gH a0 et A fagor W gy e wfl s
A N ; ' B i i the ratio 3 ¢ 1, The amount of milk to be
- 1R srsgor N faraar @4 s sren sm n mount of milk to be
I 3: 1 el T fism Y feRerT § R ‘"1- added to the mixture so as to make the ratio
o T8 ST 4 ¢ 1 B S 4:1, i
) 5 el (1) 5 litres
(?) 6 _E_V_ﬁ?_.I (2) O litres
: (3) 7 litres
a7 T
il (4) 4 litres
(4) 4R (5) Not attempted

(5) S E & e
0.2 ¥ 0.2 + 0.01

. ] ificati f jives
50, Simplification of Z=5——-=— "5, 7

2 x.0.2 + 0.01
0.2 x0.2 + 0.01 4 rrreg o} R, Wit &1 ¢

0. 5.1x0.1+0.02
/ 1 i]'
/n/ W
9
N
; 3 E
"
1 (4) .
" Sl
e 12
@ 12
(5) Not attempted
(5) W TE < <R
4 51.  Ifthe selling price of an article i z ti it
5 cle is = times its
51. =fe feredl g a1 forsh et 3ok 3 T 1 5 T 3
N cost price, then the profit % in the transaction
%, 39 e F e wiawE © 18
0 25lv 1) 255%
2 2
: @ 331%
3
2 2,
(3) 165% (3) 16-54:
(4 2019 @ 20%
2 ) 2

(5) = A & = (5) Not attempted

HANTY / F2 2t @1d 2 feru zane / SPACE FOR ROUGH WORK Page 13
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1 . .
52. ATEH TR @ ) T 101%,:[1?;3;;;,%%’ B 3t 82, /\candOZ‘I:Ofaworkm 10 days, Bcanclr),h
HT BT 40% W T 20 firg
T € Stefen ¢ St ) 1
1 ) pae k in 20 days and Ccando - o
Rk 3 T 13 & & ot wag T1 A s ortheer Who can complete tl:
. rk in 13 days. Wi € wh
ﬂj{mﬁmwwﬁmm%? zfjrk in minimum time ?
1 ¢ '
, (1) ¢
ATUIC a:h (2) AandC both
@) A
@ B @ A
: 4 B
(5) S ¢ == (5) Not attempted
53. 3fg (a+b) : (b+c) : (c+a)=6: 748 ﬁ%TTl 53. If (a+b) : (b+c) 3 (c+a)=6 : 7 :8;,
a+b+c=14% Wc?: a+b+c=14,thencis:
(1 8 (1) 8
(i) :‘ . 2 14
3) . B3) 6
5 IW T o AR -
) (5) Not attempted
1 T C 3 firer T =R & % 50,000 |
54 A(,\B 5 Cﬁ WBTFHEF T Tt 54. A, B and C together invested ¥ 50,000 ir
gic A9 B 9 T 4,000 SRS _ business. A invested ¥ 4,000 more than
Z 5,000 e @, @ T 35,000 F FaA @Y H and B invested ¥ 5,000 more than C. Outo
AH VTR total profit of ¥ 35,000, A received :
M %13,600 (1) 13,600
@ 14,700 (2) 14,700
(3) ¥8,400 (3) 8,400
4) T11,900 (4) 11,900
(5) SW &l 2 =ed (5) Not attempted
55. T&h PR 1;‘% F 20 e ¥ g | 8. ﬁlclilrl;l/gge§ 20 metres in a second. Its sp¢
S'FWﬂ T|ﬁ1 . 18 :
1) 36 (1) 36
(3) 18 (3) 18
T2 . 4 72
(5) 3 FE & e (5)  Notattempteq
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6. Choose the alternative which best expresses

the given sentence in Active Voice.
will be sent today.

The. invitation cards
)/Y)/They will be sending the invitation
cards today. _
2) They will send the ipvitatmn cards
today. ;
3) They will sent the invitation cards today.
4) They will have sent the invitation cards
today.
(5) Not attempted

7. Choose the most appropriate alternative to fill

in the blank.

The noise COMES from the river.

(1) over
,(2] across
(3) against

(4) Dbesides
(5 Not attempted

8. Find out the correct indirect speech of the
following sentence. ; -
He said, “Do you know German ?”
(1) He asked me if I knew German.
2) I asked him if he knew German.
/(,3‘)' He asked me to know German.
(4) He asked me if he knew German.
(5) Not attempted ;

9. Find out the part of the sentence which has

61. Pick out the synonym of the underlined word
in the following sentence.

The cellphone industry has ushered a new
phase of communication.
(1) heralded
(2) _collapsed
~ completed
(4) given up
(5) Notattempted

62. Fill in the blank with the appropriate option
given below.
If you no confidence in self, you
are twice defeated in life.
et have
(2) having
- (3) = has
(4)+ hadnot
(5) Not attempted
63. Choose the alternative which best expresses

the meaning of the underlined idiom.
He had to confess his crime because he was

caught red handed.

(1) _Caught very late
" Caught while doing the crime
() Caught sleeping
(4) Caught easily
(5) Not attempted

an error.
If he is a millionaire, he would help 64.  Pick out the correctly spelt word.
(a) (b) minipulation
the Millennium Project in the future, . - @) man%peula'tion
(c) d) #(3) "manipulation
1 () : (4) ~menipulation
2 @ (5). Not attemp-ted 5
@) (a) ,
@y [©) 65. Choose the most appropriate option to fill in
5) Not attempted the blank.
Many beggars sat the wall of the
0. Find out the antonym of ‘absurd’. temple.
(1) , sane (1) along
ﬂ/’ refuse 2 in
(3) silly (8) on
) anxious (4) Dbesides
5) Not attempted (5) Not attempted
HRNTY
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2 R forv a1 Suga wim | 71, Freifen foredi 3 9 AR ¥ A 5y
(1) ot W, e =i o o (;) a{i
@) T T @) i
§ Bt bl (4) <
V@'}ﬂﬁ%qﬁ!ﬁﬂﬁm%l
5) SR & 5) S
‘ ' . 72. ‘Sl G I A Sl i o ¥
67. 'JU \Ia&mm &t %v I %%@Tﬁm’ PR A
fere, wafires St s 2 (1) o % foreg 7 &
A - i 2y T 9
3 : . (3) I IR WO Y o heft
% e (4) RO R, 7 B
- (5) TG o T
(5) ST ST ART
‘ 73. R fr v 1 9 7 ¢
68. ‘T sreTST ot TRy ¥ el & | JM/
1 o (@ifehd YIeg o fere waifees SUge watgars! g
<R o
S 4) 9
2 & O
By &
(4 74. I 3R SwH frem a1 - s Wi T
(5) SR TR & e 42 :
’ ' (1) s
69. 'Wﬁ?wﬂ?m’&%ﬁﬁﬂ‘ﬂaﬂﬂaﬁ%; 2 :;—;
(1) dATEAFGE e
(2) oo g A fiRT | S ol
(3) o UreHH FTT i e
7~ a1 4 Afyes 9 T (5 IR 7 ey
5) St e o A |
(5) | 75. Swﬁa—mﬁmmwgﬁw
70. ‘mﬁ’mﬁmﬂaﬁwaﬂaﬂnﬁi—ﬁ%ﬁ%: (1. \
(1) a0 + ) E@ﬁﬁe‘ra@q
o) o B 0 5w e
(4) 9+ M) Tl s
HANTV / F2 3t el 2 foTE 2T | SPACE Wﬁ
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760

7.

er Tta S TiE @S % TRl

g #

b & TR fe T b e feRe T ?
5,300

(2) 4,200

(3) 6,500

(4) 6,000

(5) R T M =

nﬁa‘lﬁlﬁﬁ%ﬁ@ﬁﬁ’aﬁﬂ%ﬁduﬁﬁmﬁf@ﬁm
R foeR =T -

(a) g 7@, BT ¥ feerd

o T dATEd s

S B @ BT/ Y I T ¢/ 7

(1) (a) 3R (o) I

(@) AT (a) ARAR (b)

76.

77.

How many villages are approximately covered
currently under the scheme ‘Mahara Gaon -

Jagmag Gaon’ in Haryana ?

(1) 5,300
(2) 4,200
(3) 6,500
4) 6,000

" (5) Not attempted

Consider the following statements in respect
of Motilal Nehru School of Sports.

(a) It is situated in Rai, Sonipat.

(b) It is affiliated to CBSE.

Which of the above statement/s is/are
correct ?

(1 Both (a) and (b)

(2) Neither (a) nor (b)

(3) (a) only

FHad (a)
(4 e (b) (4) (b)only
(5) SW & &1 =ed (5). Not attempted
8. SR it UMH SAHES T4 HI FA e & | 18- What 1isttnzhe ap?riﬁimaétet plercentagle to_f ruraiﬂ
TS fefern et € 2 I?I‘;I:;Ia;algn offithestotaliipopu ation o
(1) 50% (1) 50%
o0 @) 45%
3 65% (3)» b
(4) 55% ey
(5) I T < = )
(5) = Not attempted
79, e 2R RA 1 faerd 37 % g 9fes dgar ] _
B LY, 79. Bhainswal Kalan, famous for giving sportsmen
' ' 5 to Haryana and to India is situated in which
\})f) fyarT district ?
(2) EFTa (1) Bhiwani
(3) imaw (2) Sonipat
4 (3) Rohtak
9, 3 y (4) Karnal
(5) W & e (5) Not attempted
Page 17
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80. ﬁﬂ%ﬁéﬁﬁ@ﬁ—wmwﬁqmﬁ

et & fog < s € 2
)g/ REEN
T @ VRER
Sas BRI I
() TEm
(5) IRl S =R
81. frfafed wumi W faar FifT |

(a) HEH ST oret i 4 2
(b) e sty SR 7 feuq 21

SR & F-/ S F 2
() 31 (b) QW

(2) T (@) ARAF (b)

(3) I (a)

(4) e (b)

(5) SR TR o =

82. Wﬁﬁﬂ?—mmmwwﬁ%?

)y E
g

(3)
(4) T
() IR AH A A
83, RN forg o qof T4 17
1971 -
@) 1963 \
@) 1962 |
(4) 1966
(5) WA < =ed
g4, o i fooc fase W A CERS
(1) 92 :
2) 94
(3) 88
90
(5) T o e

| 84.

e following places is

. Which oné of th
i Hockey players ?

for Indian Women
(1) panchkula
(2) Shahbad

(3) Faridabad
(4) Gurugraml .
(5 Not attempted

81. Consider the following statements.

(a) Masani barrage is in Rewari dist;
- (v Kaushalya Dam is in Pinjore.
Which of.the above statement/s s
correct ?
(1) Both(a) and (b)
(2) Neither (a) nor (b)
(3) (a)only
(4 (bonly
(5) Not attempted

82. Which of the following is not a dance forr

Haryana ?

(1) Loor

@ Khoria
~ (3) Talghadi
(4) Phag

(5)  Not attempted

83. In which year Haryana was made as @ ‘.

fledged State ?
1) 1971
(@) 1963
B) 1962
4) 1966

()  Not attempted

HOW man V. ,
there in }gar;iiznpsabha Constituencies

(1) 99
) o4
B) &8s
4 9o
) Not attempteq
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'aﬂ?#ﬂ%@maﬂﬂ%gﬁgﬁﬁ 85. Who amongst the following former UPSC

i
a EWW% srefter ST A sfuT g;;;:grs was an IAS Officer of Haryana
37 ‘ (1) Mata Prashad
(A (2) Subir Dutta
,9/ ekl (3) P.C.Hota
@ @ L (4) S.K. Mishra
) Wlﬁ; BN (5) Not attempted
Gy s
6. froan e e @i s ~hon e
T (1) The Yamuna system
(1) ETITETUTIF?T : _ (2) The Indus system
o) T | (3) The Bhakra system
) mg:];:ﬁ . (1§ It T (4) The Lift system
@ IS : ‘ | (5) Not attempted

(5) SRR o =ed

87. Which one of the following districts of Haryana

37, TreAtarEd ¥ § gawn F 1 e e ST
P shares border both with Punjab and

W?W@WWW%? | ' Rajasthan ?
(1) TR 5 : | (1) Hissar
o fown | : (2] Sirsa
(3) FuA | g '(3) Kaithal
4 f ' ' ; _—— Jindj
(5) SR T o = i1t (5) Not attempted
88. EREMN 1 T 9 FIA W &2 ' §
ﬂ/ﬁz | | 88, The State Animal of Haryana is :
A (1) C'ah“jel
Ly e e e,
(4) @l
o el 4) Elephant
(5) Not attempted

HAN
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ch amongst the following is not :

89. Teifeifiaa § @ #
~ 91 BT 51 yRafe dem 89. Whi :
%WT qﬁ %) o Gl Haryana’s traditional attire ?
()~ (1) Daaman
(2) =R (2) Chorno
(3) W (3) Pagri
(4) ﬂﬂ 4) Chunder ]
(5) R TE A (5 Not attempte
90. INEARRI S 90. Where is Bir Shikargarh Wildlife San
R 3 TSI STVIRVY et STafie & 2 located ? )
(1) duga
(1 Panchkula
2) ™ 2) Karnal
(8) @ (3 Kaithal
4 Si= (4) Jind
(5) SWTE RS (5) Not attempted
91. ‘wifd I TR fosiar =1 fre 91. What is the one-time cash amount give
Jeha T ; 8l
fYr <t S © 2 the “Kirti Chakra” awardee ?
A~ ¥75,00,000 (1) ¥75,00,000
(2) ¥25,00,000 (2) ¥25,00,000
(3) <I51,00,000 (3) ¥51,00,000
(5) SR oA AR ~ (5)  Notattempted
92. NI TS e Fel ST ? 92. Where is Chink :
c/('l’)/ S, e ara b;eedmg centre locaft
! (1) -Momi, Panch
2 ¥ P ) mis
(3) foroet, Heet () Pipli, Kurukshetra
(4) FEr (4) Hissar
(5) SR <A T () Notattempteg
93, ST Weiu e efarn H e e 2 93. Where is Ing; ‘
located j ndian Instityte of Manage™
(1) farart i in Haryang 5 anag
@ FE :21 Bhiwani
el ! K
2) (3) pamal
an
@4 TE l ROhChkula
(5) S & e 5 x tak
ot att
HANTV /F2 7 e @ fefll 22011/ SPACE FOR Roy empted
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4. o 3 2 e el e e SR g i

94. Two most important monuments of the Stat
ate

&) ‘The LAT and the H
forg v R R g7 WA 40 whish :;aceu?mayun Mosque’ are
(1) T (1) Kurukshetra
2) SRR (2) Naurangabad
(3) THAEEIR (3) Fatehabad
Teeg (4) Mahendragarh
(5) SW =&} 7 = (5) Not attempted
)5. 39 S @l TEEr iy S e i e ®TE! | g5, Identify the place where Guru Gobind Singh
T ¥ WY g% o 98 52 fol ok w6 A 2 stayed for 52 days after the battle with Hill
Kings ?
(1) e e :
(1) Dhamtana Sahib
2 Teel IGIEEREISY
¥ (2) Gurudwara Lakhan Majra
(3)  TEERI U Hie
: (3) Gurudwara Kapal Mochan
4)~ RGN THGH! Hifesl : ]
o(/l/ (4) Gurudwara Damdama Sahib
[ Elia'?l
©) e _ (5) Not attempted
96. THITd =1 S9N I Fretared § § fehwh ste gt ;
o ? 06. The Third Battle of Panipat took place
1 between :
A1)y e ST i AT e (1) Shah Alam and Muhammad Shah
() T ieR g ST ST (2) Guru Gobind Singh and Aurangzeb
(3) R Te SR ARSI (3) Nadar Shah and Aurangzeb
(@) STERE e Se SR IS (4) Ahmad Shah Abdaliand the Marathas
(5) TR S AR (5) ' Not attempted
4
97. WWEEFTH’?‘TW&? 'ﬁ‘TféT s 921 1 ST | 97, | Which day of every month is celebrated as
e # afere’! % w9 H wAE S ? “Tithi Bhojan Beti Ka Janmadin School me
) = 3 Y Abhinandan” ?
; 1 rd
(2)/\ o (1) 3% Tuesday
. (2) 4th Tuesday
(3) Wedl HIeER
. (3) 1St Tuesday
(4) <80 EUGEIES
(4) 2nd Tuesday
(5) S AR S e
(5) Not attempted
. HANTV / F2 0% 1Y & fé10 2t / SPACE FOR ROUGH WORK Page 21
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98
e
(TEESh g
aﬁ:[ ) 2
—91 ¥ -2030 022 %
(1 ¥ ) B SR
(2; ol | o 1 gy e o8, As per th s
(3) <hl What Py etLﬂdia7S Enviro
T achievi e rank © nment
( S (SDG zlﬂg gustain f Har Repo;
-2030)? ~ble Developn e
(5) SWAE 1y o evelopmest;u.'
Qg9 1 9 2) gth nt ¢
. R (3)
18t
ﬁﬂfﬁféﬁaﬁ (4 '
T ) 3rd
e T AT (5
(@) R -f3 g He
21 ¢ formm s attempted
b) TR iR T8 ﬁiﬁ% ert o s H 09. Consid )
3:@[5 1 , e
(1 a9y —qﬂz;sg_ro gfq AE $ i Hfeen 9= € :Ylled(éw P;;;;gnfgnﬁwing sta
) i C
) (@) R (b /3 T T feen < & | | (2) overnment of e S
@ @ il ¥ A woman of e, Schu
Wa(a) Al b eligible. age 21 ye em
@) (@) (b) W)h ¢ darresd BE s
Fad ich n al o
(5) (b) ”°"§ct;J s aba lowance of 3
ey = A (1) Bo't ove stateme 1,800
100. T TE (2) Neit};(a) and (b) nt/s is|
mméﬁm (ShTad 5) (2) OnT; (a) nor (b)
(a) gﬁ'«:{TU]T W | ' tﬁ-) %aﬁﬁﬁqﬁﬁgﬂ (5; (b) only
= af%a»‘r < . Not attempt
gl i e 00. Consi =
mw’ﬁ:ﬁ' '@.g}_ﬁ Statslder the f
3 i gLt > ( e Dome ollowin
g'q'g‘éﬁ M %' . giim%?ﬁ a) GS stic Pro g statem
ﬂ' @' ﬁ;{ 'W.?;[-cﬁ- K DP of H duct (GS ents abOUtC
(1) (2) ¥R -m/@w'ﬂ'é’f : o (b) arnatak aryana i DF). |
) &R (b) 3/%? aspPlien is more
(2) q _d';[ ( aﬂ.{ OfH Of Mah than th(
(3) wa} A () ?hich ofaryana. arashtra is
(2) (lon'ect? the abov more tha
5 B2 o o e statement/s’
e o T . NG e "
r(
4) (a) only a) nor (b}
(5) ;1;) only
ot att
empted
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